™ HIDROSAM
A/ HIDROPAR

m Maxtor

BANYETIE
150 504 SERY SHOET
SDAZ010-5 200010 SHORT STROK SILINDIR MANYETIK
SDASGD-5 20020 SHORT STROK SILINDIR MANYETIK
SDANGES-S 200025 SHORT STROK SILINDIR MANYETIK
SDASNG0-5 20030 SHORT STROK SILINDIR MANYETIK
SDAXNNS0-5 20450 SHORT STROK SILINDIR MANYETIK
L J
Frpd
MCOEL 150 SDA SERS MANYETIE SHORT
STROE SRMDELEE 4
SDAZSX10-5 25410 SHORT STROK SILINDIR MANYETIK
SDAZSICZ0-5 25X20 SHORT STROK SILINDIR MANYETIK
SDAPSNIS-5 2525 SHORT STROK SILINDIR MANYETIK
SDAZSI0-5 25X30 SHORT STROK SILINDIR MANYETIK
SDAZSX50-5 2550 SHORT STROK SILINDIR MANYETIK
M >y
MOOEL 50 SDA SERTH MANYETIL SHOET
S0A I2010-5 32410 SHORT STROK SILINDIR MANYETIK
S0A ID00-5 3220 SHORT STROK SILINDIR MANYETIK
S0A 1055 32X25 SHORT STROK SILINDIR MANYETIK
$0A I000-5 32X30 SHORT STROK SILINDIR MANYETIK
SDA 12X40-5 32X40 SHORT STROK SILINDIR MANYETIK
SDA I050-5 3250 SHORT STROK SILINDIR MANYETIK
\ S
(]
MOOHL 80 304, ﬁ u:mm: SHOET o,
SDA 40X10-5 40X10 SHORT STROK SILINDIR MANYETIE
S0A 400C0-5 40X20 SHORT STROK SILINDIR MANYETIK
S0A 40000-5 40X30 SHORT STROK SILINDIR MANYETIK
S0A 0X40-5 40X40 SHORT STROK SILINDIR MANYETIK
S0A 0050-5 40X50 SHORT STROK SILINDIR MANYETIK
L vy
Fyal
MO0 80 50, MAMTETIE SHOST
TR0 o
SOA 50X10-5 50X10 SHORT STROK SILINDIR MANYETIK
SDA S00020-5 50020 SHORT STROK SILINDIR MANYETIK
SDA 500030-5 50030 SHORT STROK SILINDIR MANYETIK
SDA 50X40-5 50040 SHORT STROK SILINDIR MANYETIK
SDA 50X50-5 50X50 SHORT STROK SILINDIR MANYETIK
\_ SDA S000100-5 50X100 SHORT STROK SILINDIR MANYETIK 5}
( MC-11R-1M SENSOR )
( MC-Z1R-1M SENSOR )

HIDROSAM
HIDROPAR

www_hidrosam.com




P\ HIDROSAM
(W HIDROP‘AR

Features

.Improving for adapting wide range
applications, using precise polishing of
piston rod, more sense of products quality
and longer life of front seal.

. Adjust the structure to the optimal state,
and ensure the smooth operation of the
product.

. The piston rod and the back cover cramping
technology, improving product quality.

. Combined with enterprise color planning,
it is redesigned by new color system and
precise treatment of particulars.

The back cover
cramping

SDA32X5

Ordering Code

Sm.owh - 12 16 5-130mm 10: 10mm S: wltl_j_rpaghﬂ B.Iank Femaie JEL 01R
e 20 25 20: 20mm Blank : Without magnet thread /
32 40 30: 30mm ———————
SSA: Single acting, _ 50 63 _50: 50mm SMusthond BN TeiTIR
spring-out w 39_ 100 75: TS__MI"I’I -
_100: 100mm _ — =
STA: Single actlng
spring-in ——
* Standard wire length is
1 meter, please specify for
SDAD: Double- b g
shaft type

SDAJ : Double- shaf-l
with ad}ustable
stroke

—

Specification

Operation

Working Medium

Operating Double Acting
Pressure Range Single Acting

Proof Pressure
Operating Temperature Range

Operating Speed | Double Acting
Range Single Acting
Port Size

Double Acting
Single Acting Spring-out / Single Acting Spring-in
Air

0.1~1.0MPa
0.2~0.9MPa
1.5 MPa
-20~80°C
30~ 500 mm/s | 30~350mmys |
50~ 500 mmys

M5x0.8 | e | e

30~ 250 mm/s

G3/8"




™\ HIDROSAM
A HIDROPAR
www hidrosam.com

Internal Structure SDA m




™\ HIDROSAM

A’ HIDROPAR
hid! gaAMm.com

Overall Dimension Compact Cylinder

SDA12-16 Female thread SDA20-100 Female thread

A4 Stroke
=] C+Suroke

A= Frroks
C-Stroke

=

R A AT A

SDA20-100 Male thread
SDA12-16 Male thread
troke B4Bzrok
E*E-FSwnue X T
H__[Bt C+Seraka
= g1 C-Straks =] B,
PR e
=) 2al .
i e P~
S e o A N\
T
Vi /] Ry
Fi 1‘3\,2.n 2.p1 A

oot | N1 | N2 .

|'s=8 | s»5|s=5 =5




™\ HIDROSAM
A’ HIDROPAR

SDAD20-100 Female thread S e SDAJ1216 Female thread
i ot C+Stroke 81
s Cis Acyseshin Sroke | | 23y Pa 7
P =]
1 ZZ 1
pezar | A Eﬂ'é{
] \\ L4
U
1
LY
8 \z.p S-E

k) N1

B+Geroke B+ Adjustabile Gurake wms M* w

i & =Biorohn 1 2 + Adw ssable Scroke
a8 Ge-Eveh-bdimp e itroer  CaStroke B =
T1] G-aduavicn o || P23 P
K
.

P B

A

11 .

7T
E\Q‘
f

.

T e &

2.1 G \p.o  [GJIE




™\ HIDROSAM
A/ HIDROPAR

Overall Dimension

SDAJ20-100 Female thread

A+Stroke 2+ Adjustable Stroks

0+ Serpad+ Ad-abLAD § Btrai
+ AL, ALALE BA IR

C+Stroke

!;T

Zlled

B+5trokex2 - Adjustable Stroke

G Gerin Acustatin

L]
Strtks.

__A+Brrokex2+Agjustobls Stroke
CiStroke

B

Dimension

43
47.5
53
615

74
925
1105

G+ Agpustabie Brrooe

Il

R
kh

17 27 5 -
53 55 65 185 85 | 55| -
57.5 625 745 185 295 | 55| 36

63 70 80 2 3 6
715 795 | 895 | 245 45 | 7
74 92 102 26 36 7 | 585
80 a8 108 Fl] 38 9 | 715
9 | 845
1025 | 1255 | 1355 41 51 11 | 104
1205 | 1485 | 1585 51 61 12 | 124

s [ T

<o wlvelslsls ofs S

2 |12

12
15
17
18
28
28
28
33
38

M5=0.8
M5=08
MGx1.0
MBx1.25
M10x1.25
Mldaxl5
M18x15
M18x15
Ma2x15
M26x1.5

DNDWU‘OU‘#A-:
-
-

M3x05
Max07
M5=08
Méx10
MBx125
MI10x15
M10%15
M1dx15
M18x1.5

M3=0.5

10

11
13
17
22
28
38

45
55

R R AETERTEETRETEETRE TR

95
115
15

M5=0.8

MEx0.8

M5=0.8
Gl/8
Gl/8
Gl/4
Gl/a
Gi/e
G3/8

P1

Double Side: 6.5, Cog: M5x0.8, Through Hole: @4.2
Double Side: ®6.5, Cog: M5x0.8, Through Hole: @4.2
Double Side: 8.2, Cog: Méx 1, Through Hole: ®4.6
Double Side: 8.2, Cog: M= 1, Through Hole: 4.6
Double Side: ®10. Cog: M8x1.25, Through Hole: @6.7
Double Side: @11, Cog: M8« 1.25, Through Hole: ©6.7
Double Side: ®11, Cog: MBx1.25, Through Hole: ®6.7
Double Side: @15, Cog: M12x1.75, Through Hole: 2103
Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3

Double Side: ®6.5, Cog: M5=0.8, Through Hole: 4.2

45
45
45
55
55
75
85
85

105
13

17

17
21
24
a7
8
29
29
355

425

2

2 34
2 40
L3 44
65 52
a5 62
95 75
10 94
10 | 114

23 G
x| s

11.2




™\ HIDROSAM
M HIDROPAR
www hidrosam.com

m Maxtor

)
,_..].. s

L=
s

A v Qtraken

B ibtrake  C+SEAGRA
=

B

Bl = ree

F-Steak [ ——r]
S T R

BsStroket@

At

* Bpeein,  CeBeroke B
=

[3<]

=k

fus SrrokgeE

I

M.

4 SErak

Evfitrohe

R .

EsESLogkaxE

A Berokgs §

IB'-Swn[

B

-
M.

FaSerakn

CrSuroke
3




